
CHAPTER- 01:
ECONOMICS – OVERVIEW
WHAT IS ECONOMICS?
Economics is a social science which deals with economic activities of people. People have unlimited wants, but the resources required to satisfy these wants are limited. Scarcity of resources in the presence of unlimited wants gives rise to all economic activities. If the resources were not scarce, there would not be any economic activity at all. With unlimited resources, a person could get as much as he would like to have without doing any work. Economics is rightly called the study of the allocation of resources for satisfying human wants. On other words, economics is a social science that studies how decision-makers allocate limited resources to fulfil unlimited wants and needs with maximum satisfaction.
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What Is Main Economic Problem Of A Society?

The main economic problem of a society is how do we get the most satisfaction from our limited  

resources.

Scarcity & Choice

The fundamental concepts behind the economic problem is that scarcity of resources forces people to make choices among available alternatives.

Good and Service: Economic vs Free

The item that satisfies a human want, thereby increasing happiness or satisfaction. It can be a good or a service. Example, good= clothing, food, Ferrari car; service = haircut, bus ride, etc.

Economic good - Any good that is scarce. A scarce good is a good where the quantity demanded exceeds the amount  available at a zero price.  

Positive price for the good ( scarce good.

A free good means everyone can enjoy as much as they want at a zero price.  Example:  Air.

Economic Resources  

Anything that can be used to produce an economic good. Resources are also called Inputs or Factors of Production.
Solve the problem !

Which of the following are economic goods:

Air, Sea water, Sunlight, Paddy, Mineral water, Mango, Sands in the desert.

MICROECONOMICS versus MACROECONOMICS

Microeconomics deals with behavioural patterns of the smallest economic agents which make their decisions independently. It shows how allocation of resources, production of commodities, determination of price, etc., are affected by the independent decisions of the consumers, producers and other economic agents. Microeconomics analyzes the decision-making processes of different economic agents under different behavioural assumptions

Macroeconomics deals with aggregate variables facing an economy. Gross national product (GDP), aggregate employment level, the general price level, the growth rate of the economy, etc., are few examples of macroeconomic topics. 
POSITIVE versus NORMATIVE ECONOMICS
Positive economics is the branch of economics that concerns the description and explanation of economic phenomena. It focuses on facts and cause-and-effect relationships and includes the development and testing of economics theories. Earlier, it was called as value-free economics. Positive economics as science concerns analysis of economic behavior. Positive economics as such avoids economic value judgements. 

On the other hand, normative economics is the branch of economics that incorporates value judgments (that is, normative judgements) about what the economy ought to be like or what particular policy actions ought to be recommended to achieve a desirable goal. Normative economics looks at the desirability of certain aspects of the economy. It underlies expressions of support for particular economic policies. 

Whereas in normative economics it is tried to answer the question "what ought to be" in economic matters, in positive economics  efforts are made to answer the question "what is". An example of a normative economic statement is as follows: The price of milk should be Tk. 70  a gallon to give dairy farmers a higher living standard and to save the family farm. This is a normative statement because it depends on value judgments and cannot be proven true or false by comparison against real world data. This specific statement makes the judgment that farmers need a higher living standard and that family farms need to be saved. An example of a positive economic statement can be as follows: The price of milk has been increased to Tk. 60 a liter. This is a positive statement because it depends on value judgments and cannot be proven true or false by comparison against real world data.
BASIC PROBLEMS/ECONOMIC QUESTIONS OF AN ECONOMY
The central problems of an economic society are similar to the individual problems except for the fact that the problems now relate to the economy as a whole. The main problem is the scarcity of resources in the face of unlimited wants. The scarce resources have, however, alternative uses. The problems of an economic society are, symbolically expressed by three question words, viz., what to produce?, how to produce? and for whom to produce? The problem of deciding the level of investment can be added to the above list. We discuss each of these problems systematically by turns.
PRODUCTION POSSIBILITY CURVE(PPC) / PRODUCTION POSSIBILITY FRONTIER (PPF): 

Production-possibility curve (PPC) or Production possibility frontier (PPF) or "transformation curve" is a graph that shows the different combinations of two goods that an individual or group can efficiently produce with limited productive resources. The PPF shows the maximum obtainable amount of one commodity for any given amount of another commodity or composite of all other commodities, given the society's technology and the amount of factors of production available.

Here is an example using two goods, food and computers. In figure below, the move from point A to point B indicates an increase in the number of computers produced, but it also indicates a decrease in the amount of food produced. Assuming that productive resources do not increase, 

making more computers requires that resources be redirected from making food to making computers. If production is efficient, FA of food and CA of computers could be made (as Point A shows), or FB of food and CB of computers could be made (as Point B shows).

All points on the curve are points of maximum productive efficiency (Point B); all points inside the frontier are feasible but productively inefficient (Point M); all points outside the curve are infeasible (Point N) for given resources.
SHIFT FACTORS OF PPF/PPC: 

The production possibility frontier will shift when:

a. There are improvements in productivity and efficiency (perhaps because of the introduction of new technology or advances in the techniques of production)

b. More factor resources are exploited (perhaps due to an increase in the available workforce or a rise in the amount of capital equipment available for businesses to use)

In the following figure, we see due to the enhancement in the state of technology in producing computers given the amount of resources allocated to food causes an anticlockwise outward shift in the PPF (Panel-01). With the same resources allocated to food, a greater output of computer is possible. The real cost of computer will fall and thence greater output of computer is possible to get by the same resources allocated to computer. If new resources are discovered an exploited, then greater production of both food and computer is possible. In that case, the PPF will shift parallely (Panel-02). 


Problem 01 
In Panel-02 the above figure, what does Point N mean? What steps must be taken to attain the output combination of Point N?
Problem 02
Suppose, the level of technology has recently been enhanced in Bangladesh. How this increase in technology will bring changes to the position of PPC?
Problem 03
Suppose, a coal mine has been discovered recently in Bangladesh and coal exploration has already been started there. How this increase in resources will bring changes to the PPF of Bangladesh?
OPPORTUNITY COST 

If there is no increase in productive resources, increasing production of a first good has to entail decreasing production of a second, because resources must be transferred to the first and away from the second. Points along the curve describe the trade-off between the goods. The sacrifice in the production of the second good is called the "opportunity cost" (so-called because the opportunity to increase the first good entails the cost of decreasing the second). In brief, opportunity cost of getting something is the best alternative forgone. Opportunity cost is measured in the number of units of the second good that are foregone if an additional unit of the first good is made. Suppose, you have Tk.30 with you. You bought a cup of coffee by that money. however, you could have bought a piece of sandwich otherwise. In this example, the opportunity cost of buying a cup of coffee is the piece of sandwich you just forgone to get the coffee. 

Do All Goods Have Opportunity Cost? What about Free Goods?
Not all goods have an opportunity cost. Free goods are not scarce and no cost is involved when consuming them. 



Air conditioning uses up scarce resources especially during hot weather. Is fresh air an example of a free good? Usually the answer is yes – yet we know that air can become contaminated by pollutants. And, in thousands of offices, shops and schools, air-conditioning systems cool the air before it is “consumed”. With air conditioning, scarce resources are used up in providing the “product” – for example the capital machinery and technology that goes into manufacturing the air conditioning equipment; the labour involved in its design, production, distribution and maintenance and the energy used up in powering the system. 

Cool air might appear to be free – but in fact it is often an expensive product to supply!
OPPORTUNITY COST AND PPF: 
The idea of opportunity cost can be explained with the help of an opportunity cost curve, alternatively known as production possibility curve. Suppose, a hypothetical economy can produce only two commodities - food and computers - by using all of its resources. The production possibilities of the economy are shown in the following figure. We measure the quantity of food along the vertical axis and the number of computers along the horizontal axis. Initially, the economy is at point K producing OK (23 units) amount of food and no computers . Perhaps both the people and the government of the economy express their dissatisfaction in having no computers and would like to produce FAA aomount of omputers by sacrificing KFA quantity of food. In other words, the opportunity cost of FAA aomount of omputers is KFA  quantity of food. Some resources previously used in producing food were released and shifted to the production of  computers. Consequently, the production of food fell when the economy stand to produce a small number of computers.




Suppose the country needs more guns. The economy moves to A from B gaining MB amount of computers at the cost of AM amount of food. It can be easily found that the amount of sacrifice of food for each extra unit of computer tends to fall gradually. 

SOLUTIONS OF THE FUNDAMENTAL PROBLEMS UNDER ALTERNATIVE ECONOMIC SYSTEMS

Socialist and other Centrally Planned Economics

In socialist and other centrally planned economies, the answers to the fundamental questions are dictated by central authority under the Government. Usually, a planning commission under close supervision of the Government takes decisions about the nature and production targets of different commodities and services. 

Capitalist Economy
In a capitalist economic system, answers to the fundamental questions are provided through the operation of the market mechanism in the economy. A market for a commodity is the collection of consumers and suppliers for that commodity, who interact among themselves for exchanges.
Mixed Economy

It should be noted that pure capitalism is rare in real world. In most of the capitalist countries of the world, governments have means of controlling the markets, though answers to the fundamental question are sought through market mechanism. Private ownership of some key sectors of the economy are replaced by state ownership. In USA, anti-trust laws are in vogue to check and curb the emergence of monopoly powers. Market economies having both private and public ownerships may be called mixed economic systems. We have a mixed economic system in Bangladesh where some enterprises are owned and managed by the state.
Islamic Economy

This system is similar to the mixed economic system. However, in this system, all the three basic economic questions are solved based on the market signals as well as the Islamic Sariah. Here sariah gets top priority in making the decisions in an Islamic economy. Any business which includes the elements that are not halal, is strictly prohibited. For example, if a business relies on interest based financial system, that business is not allowed in an Islamic economy.

THE ROLE OF GOVERNMENT IN ECONOMIC AFFAIRS   
The role of government in economic affairs of the state is pervasive in socialist and other centrally planned economies. The proponents of market economy discourage any intervention in free functioning of market mechanism.  They would like to restrict the role of the state to maintenance of law and order in society so that economic forces and agents can work undisturbed. The non-interventionist view of the role of the state is now held in abeyance. Especially, the theory of demand management put forward by the great economist John Maynard Keynes brought the government to the forefront as the most important economic institution for devising and implementing different economic policies. Moreover, the market economy can achieve the desired goal of efficiency if the market structure is competitive. There are a few cases where market economy cannot work. The major problem is that market structure is not competitive for most of the commodities and services. In such a dismal situation about the efficiency of market economy, the government has a significant role in facilitating and encouraging unhindered functioning of market economy. The government can use different kinds of policy tools to correct market failures. Only then the market economy can function properly. Despite the importance of government interventions, theoretical controversies about the role of the government in economic affairs are still on. In reality, however, most governments of capitalist economic systems frame and implement economic policies to achieve economic goals.

Solve the problem !

Which ones are the microeconomic variables:

Price of mango, National income, Profit of a firm, Supply of a commodity.
TWO FUNDAMENTAL ASSUMPTIONS 

Two Fundamental Assumptions we'll use at all times throughout the course: 

Rational Behavior - Individuals are assumed to be rational, i.e., they know what's best for them and pursue that which is in their best self-interest.  Not Selfish!

Consumer Sovereignty - Individuals make their decisions freely, there is no coercion.  The individual is best at determining what is in their best self-interest.
MATHEMATICS REVIEW
Equation, Graph, Slope, Intercept : Linear Forms         


Equation -01 (Figure-01):




  Y = 2X + 10








  

Slope = 2; Y-Intercept = 10;

        

Positively Related



Equation-01 (Figure-02):




Y = -5X + 10




         



Slope = -5; Y-Intercept = 10;

        

Inversely Related


Slope of a line can be calculated using the following formulae: 
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Special Slopes: Horizontal and Vertical Lines
 Slope=0




     Slope = 
  Slope = 0




     Slope = (

Equation, Graph, Slope, Intercept : Non-linear Curve         

In this case, unlike linear lines, slope is different at different points on a curve. 










Point A:  Large Negative










Point B:  Small Negative










Point C:  Slope = 0






   



Point D:  Large Positive


Tangency : A line that "just touches" a curve is 

tangent to the curve at the point where it touches.

At point A, line MN touches the SAC curve. So,

MN is the tangent at point A. Slope of SAC curve 

at point A is zero.

WHAT IS MANAGERIAL ECONOMICS?

Managerial economics deals with the use of economic analysis to make business decisions involving the best use (allocation) of an organization’s scarce resources. Actually, there is no difference managerial economics and regular economics in terms of the theory; rather, standard economic theory provides the basis for managerial economics. The difference is in the way the economic theory is applied. In brief, we can define managerial economics as applied microeconomics (normative microeconomics).

( SAMPLE QUESTIONS FOR REVIEW!!!!!! 
1. What is economics? Who is considered as the father of economics? Why?

2. Distinguish between microeconomics and macroeconomics. Economic goods vs free goods. Identify which of the following are the economic goods: Rain water, Mango, Air, Gold, Gas, Sunshine, Park, mineral water.

3. What are the three basic questions to be solved in an economy? What are alternative economic systems? How the basic economic questions are solved in alternative economic systems. What kind of economic system exists in Bangladesh?

4. What are the Twin-themes of economics?

5. What are the factors of production? Define wage, rent, interest and profit. Define input and output.

6. Distinguish between positive and normative economics. Examples of positive and normative statements.

7. What is Production Possibility Frontier (PPF)? Define the concept of opportunity cost Show the idea of opportunity cost by PPF. Where we get the efficient output combination on a PPF space? 3 points around PPF/PPC. Mention the cases when PPF shifts outward and inward. Suppose, a coal mine has been discovered recently in Bangladesh and coal exploration has already been started there. How this increase in resources will bring changes to the PPF?
8. With a fixed amount of resources, 20 units of computers or 30 units of food can be produced. Also, the combinations of computer and food can be produced. Combinations are 25 units of food and 4  units of computers, 20 units of food and 7 units of computers, 15 units of food and 10 units of computers, etc. Draw the PPF. If new technology in computer production is invented and adopted, what will happen to the PPF? Find the opportunity cost of first 4 units of computer? If the total resources of the country increase, what will happen to the PPF?
9. Why does PPF become a straight line? When it becomes a curve?
10. When the PPF shifts parallelly? When it shifts clockwise or anti-clockwise?
11. Case study: Related to PPF
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Equation of the line:


      Y=20-4X
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Fig. 02
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Figure: Shift of PPF
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